Cmuntingl, in ,eq’,unl zst,elpzs extension and Lhn“,eng',,e/s

ijamplz: H.oum many 124}5 altnx}zthzr?

v lots ,O,F 2 is .eq,ual o 8.

2 + 2 + 2 + 2 =8

H.om many ,Flﬁwzr/s are there in the .Pﬂtzs?

TJ"\.ZIZ are 2 ﬂ.P.PLZ/S in a JQH.L} Annn bMA}/S 5 bﬂl}/& DF ﬂ..P.PLQ/S. U/SZ

\ r,ep,ent,ed addition to work out the answer.

TJ’LZJ’Z are 5 ﬂ..P.PLZ/S in a bﬂl} .Lm .IQMA*/S 6 bﬂl}/ﬁ HF ﬂ.P.PLZ/S. U/SZ

rzpzntzd addition to work out the answer.

Use r,e.P,ent,ed addition to work out LF the answer is true or ,Palzs,e.

3b. There are 2 chicks on each hay bale. ||7a. There are 5 apples on each tree.
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True or false? True or false?
There are 10 chicks in the barn. There are 25 apples in the orchard.




